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Note:	 The question paper is divided into three sections A, B and 
C. Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
Very Short Answer Questions (Compulsory)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
A{V bKw CÎmar¶ àíZ (A{Zdm¶©)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 Who developed Banker’s algorithm?

		  {H$gZo ~¢H$a Ho$ EëJmo[aX‘ H$m {dH$mg {H$¶m?
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	 (ii)	 What is thread in Operating System?

		  Am°naoqQ>J {gñQ>‘ ‘| W«oS> ³¶m h¡?

	 (iii)	 Give two reasons of process termination.

		  à{H«$¶m g‘má hmoZo Ho$ Xmo H$maU ~VmBE&

	 (iv)	 Response time is expected to be high for which scheduling 

algorithm?

		  {H$g eoS>çyqbJ EëJmo[aX‘ Ho$ {bE aoñnm°Ýg Q>mB‘ CÀM hmoZo H$s 
Cå‘rX h¡?

	 (v)	 What is meant by device polling?

		  {S>dmBg nmoqbJ go ³¶m ‘Vb~ h¡?

	 (vi)	 What is external fragmentation?

		  E³gQ>Z©b ’«o$J‘|Q>oeZ ³¶m h¡?

	 (vii)	What is BIOS?

		  BIOS ³¶m h¡?

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

IÊS> - ~
(bKw CÎma dmbo àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&
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2)	 Explain various system calls used in Operating System. How 
does it differ from function call?

	 Am°naoqQ>J {gñQ>‘ ‘| Cn¶moJ {H$E OmZo dmbo {d{^Þ {gñQ>‘ H$m°bm| H$mo 
g‘PmBE& ¶h ’§$³eZ H$m°b go H¡$go {^Þ hmoVm h¡?

3)	 Explain short-term and long-term scheduling. Describe the 
differences among short-term, medium-term, and long-term 
scheduling.

	 emQ>© Q>‘© Am¡a bm°ÝJ Q>‘© eoS>çyqbJ g‘PmE§& emQ>© Q>‘©, ‘Ü¶‘ Q>‘© Am¡a 
bm°ÝJ Q>‘© eoS>çyqbJ Ho$ ~rM A§Va H$m dU©Z H$s{OE&

4)	 What is virtual memory? Explain the use of virtual memory 
using a suitable example.

	 dMw©Ab ‘o‘moar ³¶m h¡? EH$ Cn¶w³V CXmhaU H$m Cn¶moJ H$aHo$ dMw©Ab 
‘o‘moar H$m Cn¶moJ g‘PmE&

5)	 Under what circumstances page fault occur? Describe the 
actions taken by the operating system when a page fault 
occurs.

	 {H$g n[apñW{V ‘| noO ’$m°ëQ> hmoVr h¡? O~ H$moB© noO ’$m°ëQ> hmoVr h¡, Vmo 
Am°naoqQ>J {gñQ>‘ Ûmam H$s JB© H$ma©dmB¶m| H$m dU©Z H$s{OE&

6)	 Define operating system. Explain how operating system acts 
as a resource manager.

	 Am°naoqQ>J {gñQ>‘ H$mo n[a^m{fV H$s{OE& g‘PmBE H$s Am°naoqQ>J {gñQ>‘ 
EH$ g§gmYZ à~§YH$ Ho$ ê$n ‘| H¡$go H$m¶© H$aVm h¡?

7)	 What is Resource Allocation Graph (RAG)? How RAG is useful 
to detect deadlock in Operating Systems?

	 g§gmYZ Amd§Q>Z J«m’$ ³¶m h¡? Am°naoqQ>J {gñQ>‘ ‘| S>oS>bm°H$ H$m nVm 
bJmZo Ho$ {bE a¡J H¡$go Cn¶moJr h¡?
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8)	 What id directory? Explain tree and acyclic graph directory.

	 S>m¶ao³Q>ar ³¶m h¡? Q´>r Am¡a EgmBH$b J«m’$ S>m¶ao³Q>ar H$mo g‘PmBE§&

9)	 Explain producer consumer problem. How it is solved by 

semaphores?

	 {Z‘m©Vm Cn^mo³Vm g‘ñ¶m g‘PmAmo& {g‘m’$moa Ûmam BgH$m  hb H¡$go 
{H$¶m OmVm h¡?

	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

IÊS> - g
(XrK© CÎma dmbo àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& AmnH$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 Consider the following set of process with the arrival time and 

CPU burst time given in milliseconds.

	 {ZåZ goQ> H$s à{H«$¶mna {‘brgoH|$S> ‘| AmJ‘Z Ho$ g‘¶ Am¡a grnr¶y ~ñQ> 
g‘¶ na {dMma H$s{OE&

Process Arrival time CPU burst time

P1 1 14

P2 0 11

P3 4 9

P4 2 20
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	 Determine the average waiting time and average turnaround 
time for these processes with the Round Robin (RR) 
scheduling? (Time quantum is 2)

	 amC§S> am°{~Z (RR) eoS>çyqbJ Ho$ gmW BZ à{H«$¶mAm| Ho$ {bE Am¡gV 
àVrjm g‘¶ Am¡a Am¡gV Q>Z©AamC§S> Q>mB‘ {ZYm©[aV H$s{OE& (Q>mB‘ 
³dm§Q>‘ 2 h¡&)

11)	 Differentiate between process and program. Explain the 
various states of the process using suitable diagram.

	 àmogog Am¡a àmoJ«m‘ ‘| A§Va H$s{OE& Cn¶w³V aoIm-{MÌ H$m Cn¶moJ H$aHo$ 
à{H«$¶m Ho$ {d{^Þ AdñWmAm| H$mo g‘PmBE&

12)	 Explain various disk scheduling algorithms in brief with an 
example.

	 CXmhaU Ho$ gmW g§jon ‘| {d{^Þ {S>ñH$ eoS>çyqbJ EëJmo[aX‘ g‘PmBE&

13)	 Consider the following snapshot of the system.
	 {gñQ>‘ H$s {ZåZ ñZ¡nem°Q> na {dMma H$s{OE&

Allocation Max Available
Process A B C A B C A B C

P0 0 1 0 7 5 3 3 3 2
P1 2 0 0 3 2 2
P2 3 0 2 9 0 2
P3 2 1 1 2 2 2
P4 0 0 2 4 3 3

	 If a request from process P1 arrives for (0, 1, 2) can the request 

be granted immediately? What is the content of Need matrix?

	 ¶{X à{H«$¶m P1 go AZwamoY (0, 1, 2) Ho$ {bE AmVm h¡, Vmo ³¶m AZwamoY 
VËH$mb {X¶m Om gH$Vm h¡? ‘¡{Q´>³g H$s A§Vd©ñVw ³¶m h¡?


